SMAEEE 40 15. BE-BABE

EMKEXEE R

E%H E.l %%%Ei'%(#ﬂim) o EiE @%27@’7553—t\37°(dpr?m)

1 HEE®R YSILIFRIBULEF—To

(1) BB 1A0E () 95#30/\~ e a
f—f:L, 'F:a@~®0)&as")buiéd'%>(zfﬁﬂ?fd)ﬁi%aéff%o

17“§%3kgi"-'é GII% ih*%‘lkgi‘é
2. 555 ATFREMMHEF L/N\KEHT10 10. HEHRE QONERITIZ . GHEEH ML L IF kel
- s = e < e ar SHIZ2B S ST ket
B BES (1) B w18 ?\&0%4?\5 PRIz H QAIEEEDEHIL3/m57ke. 455 L1 E60ke. 45 2kai
85304 ~ 9% 159 3 BEIE EHKEXEH
3. FERX SHA4EEETFEFEMHESE F4REMABS (2)15m RS HEKREE BADRBESEERY
BAEIHSESSREE mg
: - =15 . . BAMABEETREGSSEE
4. BFEBR HX B H =! 13RERERZ 11. BESHE  AROERY S A A E e IE$EE
#£1H 8A7H H 12:20 SEAEBEIRENHESSRE
%2H 8H8H A 12:00 12. FERZ EFEMEY
%3H 8H9H X 12:30 8A7A-14B) 1 | 2 | 3 | 4[5 | 6| 7| 8] 910 1 izizifzfé
%®4H 8H14H H 12:20 EEATES|11:30/12:0512:40/13:15]13:50| 14:25| 15:00| 15:35| 16:10| 16:50| 17:25 § FERER
%5H 8B 15H A 12:00 FFE  [12:20 12:5513:30|14:0514:40|15:15|15:50|16:25|17:00 | 17:40|18:15 JBCHARE HITRAUALIY—X BRIRK—YH
%=6H 8H16H N 11:35 = FHYE (F—2R) (M1) (J—ILKI—RE)
SHoH 1 > s 1 21 5 5 7 s s 101 11 1 HEEE HS5ILYRR3E (4h)
- 2 BiEEE 54keg
5. AB#HY) 7R27H (7K) FHFTE S| 11:40/12:1512:50 13:25] 14:00/ 14:35/15:10| 15:45| 16:20| 16:55|17:30 3 BIE  BTRRE—VHE
3E  12:3013:05|13:40|14:15/14:50 15:25|16:00|16:35|17:10|17:45|18:20 — AR AIBCHSE
: A BB EERE
(1) RABEF 78248 (B) 9FF~12FF 8A8H-15H| 1 2 3 4 5 6 7 8 9 | 10 | 11 | 12
(2) BIAGFR BE [ 5% 55 15 HHFTES | 11:1011:4512:20/12:55/13:30| 14:05| 14:40 15:15|15:50|16:30 17:05| 17:40 JRA;E;’EﬁﬁiE
(3) A F 4 OHEFERAEZ QFEFZIEEL F7E  12:00/12:35/13:10/13:45|14:20|14:55|15:30|16:0516:40|17:20|17:55|18:30 E) &
@E’&ﬁigﬂf 1 tHiEﬁ*% "j'?jl/Jl“%ZEE
wUERGER _ o BIEEE 55ke. 4B kel
@DIRAD F M HOT=FITIRAEITD 8A16H | 1 | 2 3| 4| 5| 6 | 7|8 |9 | 10 11 12 3 EIE EEEESSEREGEASEN
FRERIESIEAE HERFTES(10:45/11:20|11:55|12:30| 13:05|13:40| 14:15| 14:50 15:25/16:00| 16:40| 17:20 EFEETSSEY
(4) BAF#H 188(=D=200M ZFE  11:3512:10|12:45|13:20/13:55|14:30| 15:05|15:40 16:15 16:50|17:30|18:10 FERBEZARA
JRAZHRRERE JLrR)—kOD4—
7. n”%&gﬂi 13. EE q%ﬂ'“‘747)|/ t () IASILKE
(1>J='HjE|H# 7H248 (B) 9FF~12F% (BE)EHEX. (B)EMENATIV(BEEEEEZSZASE--1~358) 1 H:fei%frf ﬁa?‘wp%s@
(2) B BT R 55 15 X(B)VEDYEEBER. (B)E2a—F IR —v—hyTISBEHETES, 2 fﬁ*jﬁiqg@iﬁégﬁ
- -y = HIE Eid = =1
(3) B F ORHEMEHE QFAZKER & X E)VVFEHLYEEBEX. (E)FEHEICEBLEHETES,
QA% Em4H L S EFiLE X(E)VDEHLYED1~3EEL. (BE)OROA—BLTATISIZBEEETES, A —H RS
1 HEE® S5ILyrB2#k
Gz SBRREL 2 QINEE 56k‘ HE2kgllL. DRI
EE=E g I gl ~ YA Sl
14. Ot EEE o 4 2ke N E
8. E5ZE A (1) C2#kIL. 152 E 3 EIE BERBEESEY
(1) B2 BB 7TR248  (H) 9Ff~128F (2) EEBE. 3. 2MOBE X R EMBERREE -
(2) B 3A B HEE S (3) COBMITHAREN TOVENBEFBERAEER VREETHRRE(TLD ko
(3)$ﬁ%—:ﬁ‘ﬁ ®5ﬁ§$5&% @%ﬁq:_ﬁgq:gﬁ (4)¥E1§§0)i%ﬁ[is (_*i)%ihaz%jz_%éﬁufﬁ'b‘ito %%ﬁ%%lzob\—t[i\ 2 ﬁ#ﬂi% 56kg ¢t%2kgﬁt&b~ J:{ﬁa)*ﬁ{;“:
HE. UFMEETICEBRFRHFR AN (—H) BEFEEXTLIZBELAHLELESLY, B EE2kgNE
FEINTNBEIZDONTIE. RAID (B)MEEDXZRICH->TIERFAREL HEFESD 3 BIE FERBEARA
BRERBFETICRIFIAEIRETHILE, (6)5%‘%’%(:;& COBMICHARINTLWIESR EFUZHITODLWVT. EETD OROS—THEE
(4) BIAFHH 1AIZDZE200H BEERHYET, <7 FhAE R

-



FalE REEBRE MeEE

SHAEE
a 7

(e FA)
Jiih & 7 | >4 K E
B E TR 3 i &t
X 4 =2 AfR B1#k B2#k C1ik C2#k 3% 27%
TR - B @ % 1,000 @ 1,600 ® 1,600 @ 1, 600 @ 1,200 @ 1,200 @ 1,200 @ 1, 200 @ 1,800 ® 1,400 (® 1,400 11 R
650 650 500 — 300 — -+ - ~ U 5,000 600 —
1 - 228 228 - 175 = A 105 R + BE - & ~ * i . 1,750 B2 — 210B2 = &
8A7TH 130 4 130 100 B % 60 % M ;o # % y ,L y % 1,000 % 120 # R & 16, 492
/) |& 65 65 50 = 30 = = = v o2 H 500 60 =
33 33 25 15 ~ 250 30
A - B @ 1,600 G 1, 600 @ = 1,000 @ 1,600 1,400 @ 1,200 ® 1,200 @ 1,200 (D 1,000 @ 1,400 ® 1,400 (® 1,400 12 R
650 — 3 750 500 500 300 — — 300 500 — —
2 ® = 2= ,'J 263 = 175 175 5 1064 # + 105 Cl — 175C1 = f C = #F
8H8H M 130 M 3% 5 2 150 # 100 100 #0608 & M % 60 w8 1004k B B mE % 9,778
(A) |& 65 = v b 75 50 50 30 = = 30 50 = S
33 7 38 25 25 15 15 25
WA 5 - P @ 1.600 @ 1,200 ® 1,600 @ 1,600 ® Z 1,600 @ 1,400 ® 1,400 @ 1,400 @ 1,400 @ & 1,700 ® 1,600 11 R
650 650 500 — 500 300 — — — T 1,100 700
3 H - 228 228 1755 §& 175 - 105z $ = & = * 385 Bl 245
8A9H 130 130 100 B % 100 60 M ®m B % M @ I 220 £ 140 9,862
(KR |& 65 65 50 = 50 30 = = = S 110 70
33 33 25 25 15 # 55 35
A 5 - P @ 1,600 @ 1,600 ® 1,400 @ 1,400 ® 1,600 G 1,200 @ 1,200 @ 1,200 @ 1,200 @ = 1,600 @ 1,40 | 11 R
° 1,200 400 400 - 300 300 — — 400 J 2,500 700
4 =y 0 420 = 140K 140 £ $& 105 0 105 n & + & €2 — 140 -~ i A 875 245
88148 * 240 0¥ g0 M ¥ 60 % 60 M % B & 80 P 2500 140 | 12,240
(A) |& z 120 40 40 = 30 30 = = 40 < w250 70
5 60 20 20 15 15 20 E 125 35
A - HE @ 1,600 @ Z 1,000 @ 1,400 © 1,400 ® 1,400 @ 1,400 ® 1,400 ® 1,000 @ 1,200 @ 1,200 @ 1,200 @ 1,00 | 12 R
1,100 550 400 300 — — — 300 400 — 500 g & 7 1,500
5 |u #o 385 9 193m 140 m 106% # x # t & 105 2 = 14062 = & 175 &5 7T g 525
8H15H v om 220 w110 8 80 Bo60M & M | M % 60 %8 B0 E B 100 % 3 = 2z & 300 | 10,796
/) |& 5 110 & 55 40 30 = = = 30 40 = 0EsE L% 50
55 28 20 15 15 20 % *x 7 75
WL - B [0} 1,200 @ 1,600 @ 1,600 @ 1,600 ® 1,400 @ 1,200{® Z 1,000 © 1,400 @ 1,400 @ 1,400 @ 1,200 @ 1,200 12 R
~ 7 28, 000 1,200 400 - 400 400 300 300 — — 400 —
6 g .Y Z 9,800 ;ﬁ 420 - 140 = $& 140 140 105 — 105 = $& = & c2 140025 4%
8H16H N 5,600 yz 4 240 80 M & M 80 80 60 # 60 2 & £ & % B 80k M & 55, 760
(KR |& oy | 2,800 51 120 40 = 40 40 30 30 = = 40 =
-7 1,400 60 20 20 20 15 15 20
e 140 | B 5] [ 5] F 25|15 5 E 12.5
HE T 24 Ll 100 100 100 100 100 63 100[# 5 200[#===— 150]:«= 100
¥ 4 A dk 49, 640 3,910 6, 636 7,226 6,376 12, 750 19, 550 8,840] 114,928
FINE 4B 1,106 1,106
HOF UG A 1, 680 35 35 210 88 2,048
HUET Y A3 2, 600 2,040 5, 880 7,840 9,090 11, 813 12, 220 5, 400] 56, 883




